

$$\textcircled{4} (-4) \overset{+}{-} 1$$

$$-4 + 1 = \boxed{-3}$$

Alg 1

CLASS
NOTES

Weds
8-22-12

LAPBOARD
PRACTICE

$$\textcircled{30} \left(-\frac{3}{8}\right) - \frac{3}{2}$$

$$-\frac{3}{8} - \frac{3}{2}$$

$$-\frac{3}{8} - \frac{12}{8} = \boxed{-\frac{15}{8}}$$

$$\textcircled{42} -\frac{3}{2} + -\frac{11}{6}$$

$$-\frac{3}{2} - \frac{11}{6}$$

$$-\frac{9}{6} - \frac{11}{6} = -\frac{20}{6} = \boxed{-\frac{10}{3}}$$

$$\textcircled{64} \frac{\frac{2}{3}}{-\frac{2}{1}} = \frac{2}{3} \cdot -\frac{1}{2} = \boxed{-\frac{1}{3}}$$

$$-7 + 9 = \boxed{2}$$

$$-8 - 5 = \boxed{-13}$$

$$-2 - 5 - 3 =$$

$$\swarrow \searrow$$

$$-7 - 3 = \boxed{-10}$$

$$\frac{1}{2} \cdot \frac{3}{4} = \boxed{\frac{3}{8}}$$

$$-\frac{2}{5} \cdot \frac{5}{10} = \boxed{-\frac{1}{5}}$$

$$\frac{2}{3} + \frac{1}{2}$$

$$\frac{4}{6} + \frac{3}{6} = \boxed{\frac{7}{6}}$$

$$\frac{2}{7} - \frac{5}{4}$$

$$\frac{8}{28} - \frac{35}{28} = \boxed{-\frac{27}{28}}$$

$$\frac{\frac{2}{3}}{\frac{1}{5}} = \frac{2}{3} \cdot \frac{5}{1} = \boxed{\frac{10}{3}}$$

$$\frac{4}{6} - \frac{9}{3}$$

$$\frac{4}{6} - \frac{18}{6} = -\frac{14}{6} = \boxed{-\frac{7}{3}}$$

$$\left(\frac{2}{3}\right)\left(-\frac{4}{5}\right) = \boxed{-\frac{8}{15}}$$